202312178 (B) I\f RE—F x YEFEEZE in KIR S=Fa17/\(RE—F BH=xX

JEGz| R HIE|€v7>| B F EX4A E3) Kig U=kl AL MmERSAE Eikd
1 1 55|R& [#TE(EHhH) 2 (BXRTFTUT 10.20 10.20
2l 2 55|RIR |HETE(BBHY) 2 18BXRTIF 10.24 10.24
3] 3 55|R& [T (E3hH) 2 (BXRTFUT 10.28 10.28
4 4 55|RIR |#ETE(HBHY) 2 18BXRTI7F 10.31 10.31
5/ 5 55|RR |#ETE(BBHY) 2 \BRTIT 10.52 10.52
6| 4 57RE [#FE(L&LSY) Q|BARTYT 10.84 10.84
7| 3 iR |V)— N AN =V 11.07 11.07
8| 4 &R |V)— 2 /33y 11.10 11.10
9] 5 57| [#F(L&DY) S |BARTYUT 11.60 11.60
10 2 58| Fda [LTE (Hdehs) 2 18BXRTI7 12.11 12.11
1 2 iR |V)— 2 |,E3> 1213 1213
12| 3 59| T8 |BETE (VDY) 2 18BXRTI7 12.28 12.28
13] 2 59| FEE [HRTE(VHHY) 2 (BXRTU7 12.52 12.52
14 3 58| Fda [LTE (Hdehy) 2 1BXRTI7T 12,57 12.57
15 1 58| TdE |ETE(GGEh) 2\1BRTIT 12.65 12.65
16| 4 59| FEE [HRETE (D &HAY) 2 1BXRTI7F 12.84 12.84
171 1 &R |V)— N AN l= 13.22 13.22
18] 4 #E10|ai-H|byTa Y evh 79N TYT 13.44 13.44
19 1 59| FFE [HRTE(VHHY) 2 (BXRTUT 13.69 13.69
20| 4 58| FdE [LTE (Hdehy) 2 18BXRTI7 13.70 13.70
21l 5 #10|BZB|byTa Vw79 TIT 14.18 14.18
22| 4 53|H L |UZfzA 2 18BXRTI7 14.67 14.67
23| 2 H8|EHEF |haU” 2 |V x9N TIT 15.42 15.42
24| 2 #F10|ai-H|byTa Y rvh 79N TYT 15.43 15.43
25| 5 53|# L |UZf-A 2\BRTIT 15.66 15.66
26| 3 #E10|laiHE|byTa Y rvh 79N TYT 15.83 15.83
27| 2 52(8 1k [J4 A |3ZFaTva oy - 15.99 15.99
28] 2 53|H L |UZfzA 2 18BXRTI7 16.24 16.24
29| 1 H8|EEH |haU” 2 |V vvh79ELTIT 16.35 16.35
30 3 H8|EEH |haU 2 |Vt TIT 16.91 16.91
31 3 53| FH L [STf=A 2 (BXRTUT 17.22 17.22
32| 1 52|81 |0 A |3ZFaTva oy - 1753 17.53
33[ 4 52(8 b [J4 A |3ZFaTva Iy — 17.63 17.63
34| 5 58| Fda [LTE (Hdehy) 2 18BXRTI7 17.93 17.93
35| 4 H8|EHE |haU” 2 |V xvh79ELTIT 18.29 18.29
36| 5 H8|EH |hsU 2 |V vt TIT 18.35 18.35
371 1 #10|lacH|byTa V)79 TYT 20.00 20.00
38| 1 53|H L |UZfzA 2 18BXRTI7 20.29 20.29
39] 3 57|RR |#MF(L&LOY) Q|BXRTUT 21.07 21.07
40| 2 57(BFR [#MFE(LLOY) QNBERTUT 23.17 23.17
41| 3 514 (Do VAV 2485 2485
42| 1 571 BF |[#FE(LLSY) Q|BARTYT 26.79 26.79
43( 1 514 (Do |G R 27.67 27.67
44| 3 52|81 | A |3ZFaTvatoy - 28.88 28.88
45| 2 51[#i& (Do VAV 29.48 29.48
46| 5 5135 (20 AV 29.35 34.35




202312178 (B) I\f RE—F x YEFEEZE in KIR S=Fa17/\(RE—F BH=xX

47| 4 515 |20 A AYvA 35.66 35.66
48| 5 52|88 (4 A |3ZFaTva Iy - iR R
49| 5 59| TP |BETE (VDY) 2 1BXRTIT iR iR
50[ 5 Hl|gER (V)— 2 [/fE3Y R R
51| 1 56|F L |3 R |V vh79ELTIT | R |RH& K%
52 2 56|H#H L [R5 f |V v9h39ELTIT | R |5RH& K&
53| 3 56|F L |3 R |V vh79ELTIT | R |5RH& K&
54 4 56|F# L [R5 2 |V v9h39ELTIT | R |5KH& K&
55| 5 56|F L |3 R |V vh79ELTIT | R |RH& K&




202312178 (B) I\f RE—F x MHEFEEZE in KIR STA47L/N(RE—F RHE

JEGz| R HIE|€v7>| B F BRA E3) Kig U=kl AL MmERSAE Eikd
1l 3 =w2(801 | oAb & [vzobaob =719y 11.56 11.56
2l 2 BE2|1F00I | Foh & [yzubsub =71y 11.93 11.93
3] 3 w3|FHN |75 & [vzobaobv=719y 1455 1455
4l 1 BE2|1F00I | Foh & [yzubsub =71y 17.58 17.58
5 4 w3|FHN |75 & [vzobaob =719y 19.80 19.80
6] 5 BE2|1F00I | Foh & [yzybsub =71y 1511] 5 20.11
7| 2 =] ES LTI A & [vzobaob =719y 20.94 20.94
8| 4 BE2|1F00 | Foh & [yzubsub =71y 16.27] 5 21.27
9] 1 =] ES LI A A Vx5 yv=7yy 21.33 21.33
10| 4 132|K*f |GAB(FH ) & l1suresLansue| R 23.28 23.98
11| 5 w3FHIN |75 & [vzobaob =719y 23.45 23.45
12| 5 132|K*f |GAB(FH ) & l1suresLansue| R 23.69 23.69
13 5 135K+t [MARI(<!)) @ [svresLanyk| R 25.32 25.32
14| 2 132|R*f |GAB(FH ) & l1suresLanaue| R 2711 27.11
15 3 135|KR# [MARI(<)) 2 |1su7esLansur| R 27.81 27.81
16| 3 132|K*f |GAB(FH ) & l1suresLansue| R 28.84 28.84
17| 2 131|BE|IFAS 2 VeIt | R 29.28 29.28
18[ 1 131|BEH|XAD 2 |yt vve— | R 34.24 34.24
19| 4 135K+t [MARI(=!)) @ [suresLanyr| R 2750 | 10 37.50
20| 2 135/ K%t [MARI(Z!)) Q |qsay7osLanmur| R 4498 4498
21| 1 132| K+t [GAB(#H D) & |1survsLansour| R 45.01 45.01
22| 1 135/ K%t [MARI(Z!)) Q |qsay7osLanmur| R 46.80 46.80
23 3 131|BBH|IFAS R [Vt vve— | R | K&
24| 4 131|BH|IZAD 2 |Vt uvr— K& K&
25 5 131|BH|IFAS ? |Vt uvr— K& K1




2023512 A 178 (B) NARE—F x MtEFE&F in KB F—FU/NfRE—F RB#FRE

JEGz| R HIE|€v7>| B F BRA E3) Kig U=kl AL MmERSAE Eikd
1l 3 #HI|BHE [LAUGS™Y) A |R—4—a1)— 7.90 7.90
2l 2 #I[AaHA |LAU(S™) | R—F—a1)— 8.13 8.13
3| 5 #;I[AMA |LAUGS™Y) S |R—%—a1)— 8.19 8.19
4l 1 H7|hE (VT Q |#-arYTUvIN-F 8.23 8.23
5 2 BH7|0@E (U7 2 |A-&k3UTYYIN -} 8.23 8.23
6] 4 #F9[aHA |LAU(S™Y) | R—F—a1)— 8.23 8.23
7| 4 =7 |Hhm (V7Y 2 |A-&M3UTYYIN - 8.27 8.27
8l 3 "7|HHE (U7 2 |A-&bUTYYIN - 8.30 8.30
9] 3 ®|6|hE LT Q@ |F-ATUYIN - 8.40 8.40
10 5 "7|4E (U7 2 |A-&bUTYYIN - 8.47 8.47
1] 1 #HI|BHE [LAUGS™Y) A |R—4—a1)— 8.48 8.48
12| 2 w6|hAE LI & |F-AbYTUvIN-F 8.54 8.54
13 1 ®]6|hE LT A |F-ATUYIN - 8.57 8.57
14| 4 w6|hEE LI & |F-abYTUvIN -k 8.69 8.69
15[ 5 ®|6|hE LT & |F-ATUYIN - 8.85 8.85
16 3 |2 =F |LvoR | R—F—a1)— 9.24 9.24
171 1 H4|KE | RETI*) R YA NTUNRE— 9.28 9.28
18] 2 F2=F |LvoR S | R—F—a1)— 9.36 9.36
19] 4 H2|=E |LyIR S |R—4—a1)— 9.48 9.48
20| 2 B4 KB | RETW) 2 |IANTUNRE— 9.51 9.51
21| 4 201(@EO [FF> R |[A-abyrvyan-+ 9.61 9.61
22| 3 291|@EO |FFY  |F-abU7UvIN- 9.66 9.66
23 5 H2|=E |LyIR A |R—4—a1)— 9.69 9.69
24| 5 291|@AO |FFY @ [F-abU7UvIN- 9.72 9.72
25| 4 B4 KA | RET4) R YA NTUNRE— 9.74 9.74
26| 1 F|]2=F |LvoR S | R—F—a1)— 9.75 9.75
27| 3 H4|KE | RETI*) AN IS 9.77 9.77
28| 2 291|EHO [FF> Q [H-abu7UvIN- 9.81 9.81
29[ 1 291|AO |F¥Fy L |A-abrvyan-+ 10.47 10.47
30| 3 290(#H |HLh 2 lvRy7onzx—| R 22.94 22.94
31 5 290|#kEH |HL 2 |oRy7unzx—| R 26.14 26.14
32| 2 290(#H |HL h 2 lvRy7onzEr—| R 34.41 34.41
33| 4 290|#kE |HL 2 |oRy7unzx—| R 28.79 | 10 38.79
34| 1 290(#&H |HL NI 2 lvRy7rnzE—| R 55.43 55.43
35| 5 B4 KA | RET4) 2 [N YTUNRE— R R
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